Difference Quotients

1.  Find the difference quotient of the function, f, given by 
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2.   Now evaluate this difference quotient at
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     Find the slope of the segment connecting the points B and C.

3.  Now evaluate this difference quotient at 
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     Find the slope of the segment connecting the points C and D. 

4.  Evaluate the difference quotient at 
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     Find the slope of the segment connecting the points K and B.
5.  Evaluate the difference quotient at 
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     For which segment(s) does this give you the slope? 

     Check by finding the slopes of this segment(s).

6.  Find another two points for which the difference quotient would give the slope.

7.  Now find the difference quotient of the function, f, given by
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     i.e. find 
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8.  Evaluate this difference quotient at
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     Find the slope of the segment connection the points B and D

9.  Find three other pairs of points for which this difference quotient gives the slope.  Check your 

    conjecture by finding the slope of these lines. 

10.  Find the general difference quotient of the function f given by
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     a)   Evaluate f for 
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 and write in the y-coordinates for the following      

           points on f:  
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      b)  What value of h would you use in the difference quotient so that it would give you the slope 

            of AB?  of AC?  of AD?  of AC?  of AD?  of BC?  of CD?  of AD?  

      c)  Find the slope of these lines using your difference quotient, then find the slope of the lines 

           using the points from part a).
11.  Find the difference quotient of the function, f, given by 
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